SNC1D
The Rutherford Model for the Atom
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____________, ____________ and _____________ are the three basic _____________ 

particles. Because Protons and Neutrons are the same size, they are given a mass of 

_____. Since electrons are only 1/1000 the mass of protons and neutrons, they are given a 

mass of _____. Normally, an atom is ____________ (has a 0 charge). For this to be 

possible, 


	Particle
	Symbol (lc)
	Charge
	Mass
	Location

	Proton


	
	
	
	

	Neutron


	
	
	
	

	Electron


	
	
	
	


Atomic Number and Mass Number
ATOMIC number is the number of _______________ in an element’s atom. (It is also its order number on the periodic table).
MASS number is the number of ____________ + _____________ in the atom. (Why don’t electrons count?)
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On a periodic table:
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Notice…



For Lithium:




Neutrons = 




Neutrons = ______ (after rounding).



NEUTRONS =  





                  number (protons + neutrons)








* NOT an exact number. Always round UP or DOWN to the nearest full number, in this case, 7.





                  number (protons)





Li has _____ protons and _____ neutrons.





To remain neutral, it must have _____ electrons.





The ATOMIC number is:








The MASS number is:  





The number of ELECTRONS ___________ the number of PROTONS.








3) ___________ with a charge of ____ , 





_________ the nucleus.





The Nucleus is composed of:





1) ___________ with a charge of ____.





	And





2) ___________ with a charge of ____.





Nucleus:








Size ~ 		 the diameter of the atom.








